
     LA.R.A. s.r.l. - Via Alcide De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: 0039/030/8970733 - Fax: 0039/030/872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

La.r.a. ref. 370004

1110

z= 36
total stroke= 140
(n° 3 pinion turns)

M16X1.5 M16X1.5

TOYOTA

drive year note

LH 11/2005-> ELECTRIC STEERING

RAV 4 III 2000 / 2400 / 3500 cc PETROL - VVTi - 4WD - 2200 cc DIESEL

original references

45510-42030  -  45510-42040  -  45510-42080

     LA.R.A. s.r.l. - Via Alcide De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: 0039/030/8970733 - Fax: 0039/030/872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                    di Bianchi P. & C. s.r.l.

     LA.R.A.  di Bianchi P. and C. s.r.l. - Via Alcide De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                    di Bianchi P. & C. s.r.l.

La.r.a. ref. 260003

1080

total stroke= 150
(n° 3 pinion turns)

M14X1 5

(n 3 pinion turns)

M14X1.5

/ / /

MAZDA

M14X1.5 M14X1.5

drive year note

LH 10/2007-> ELECTRIC STEERING

MAZDA 2 1300/1400/1500/1600 cc

original references

9532960 - DF71-32-110A - DF71-32-110B

     LA.R.A.  di Bianchi P. and C. s.r.l. - Via Alcide De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                    di Bianchi P. & C. s.r.l.

     LA.R.A.  di Bianchi P. and C. s.r.l. - Via Alcide De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                    di Bianchi P. & C. s.r.l.

La.r.a. ref. 370005

1095

total stroke= 140
(n° 3,5 pinion turns)

z= 36

M14X1.5 M14X1.5

/ / /

TOYOTA

drive year note

LH 2002 -> 2007 ELECTRIC STEERING

TOYOTA COROLLA 1400/1600/1800/2000cc

original references

45510-02050 / 45510-02090

     LA.R.A.  di Bianchi P. and C. s.r.l. - Via Alcide De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



ref. description

5089 FORD TRANSIT 2200 TDCi CITRÖEN Jumper 2 2 HDi 100 120 04/06 >

Timing-kits

ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

applications*oe

6C1Q 6268 BB5089 FORD TRANSIT 2200 TDCi CITRÖEN Jumper 2.2 HDi 100-120 04/06->

FIAT Ducato 2.2 MJTD 07/06->

FORD Transit 2.2 TDCi 04/06->

PEUGEOT Boxer 2.2 HDi 100-120 04/06->

6C1Q-6268-BB 

75004300

75004500

75004300

75004400 76001900

73002000 7300200073002000 73002000 72001600

74002100

ref. part type nr.

5089 is composed by

oe notes

72001600 CRANK GEAR 1

73002000 CAM GEAR 2

74002100 CHAIN 1

75004300 SLIDING-BLOCK 1

75004400 SLIDING-BLOCK 1

75004500 SLIDING-BLOCK 1

1372428 - 1682478 DOUBLE GEAR - TALL

1576366

1704067 BLACK - STRAIGHT

1704087 NR. 122 LINKS

1372438 WHITE - LITTLE

1704049 BLACK - CURVED

75004500 SLIDING BLOCK 1

76001900 TENSIONER 1

* for the details of the vehicle please refer to the index of applications

1704067 BLACK  STRAIGHT

1704066



ref.

5090 FORD Transit 2 4 TDCi 04/06 >

Timing-kits

ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

description applications*

FORD TRANSIT 2400 TDCi5090 FORD Transit 2.4 TDCi 04/06->FORD TRANSIT 2400 TDCi

7500430075004600 75003800

75004400 76001900

73002000 73002000 72001600

73002100

74002200

ref. part type nr.

72001600 CRANK GEAR 1

73002000 CAM GEAR 2

5090 is composed by

oe notes

1372428 - 1682478 DOUBLE GEAR - TALL

1576366

73002100 FUEL INJ. PUMP PULLEY 1

74002200 CHAIN 1

75003800 SLIDING-BLOCK 1

75004300 SLIDING-BLOCK 1

75004400 SLIDING-BLOCK 1

75004600 SLIDING-BLOCK 11753155 YELLOW - LONG

1430792

1704089 NR. 132 LINKS

1372438 WHITE - LITTLE

1704049 BLACK - CURVED

1099793 YELLOW - SHORT

75004600 SLIDING BLOCK 1

76001900 TENSIONER 1

* for the details of the vehicle please refer to the index of applications

1753155 YELLOW  LONG

1704066



                                       di Bianchi P. & C. s.r.l. socio unico

     LA.R.A.  di Bianchi P. & C. s.r.l. socio unico - Via De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                       di Bianchi P. & C. s.r.l. socio unico

FIAT PANDA 900/1200 cc PETROL - 1300 cc DIESEL MULTIJETLa r a ref FIAT PANDA 900/1200 cc PETROL - 1300 cc DIESEL MULTIJET

LANCIA YPSILON 900/1200 cc PETROL - 1300 cc DIESEL MULTIJET

La.r.a. ref.

190058
1015

z= 26

total stroke= 150
(n° 3 pinion turns)

z= 26

M12X1.5 M12X1.5

aluminium threaded 
M12X1 75

drive year note

LH 02/2012-> ELECTRIC STEERING
ALUMINIUM THREADED M12X1 75

FIAT

51907994 - 51907996 - 51965755

original references

M12X1.75

LH 02/2012 > ALUMINIUM THREADED M12X1.75

drive year note

LH 05/2011 ELECTRIC STEERING51907994 51907996 51965755

LANCIA

51907994  51907996  51965755

original references

LH 05/2011-> ELECTRIC STEERING
ALUMINIUM THREADED M12X1.75

51907994 - 51907996 - 51965755

     LA.R.A.  di Bianchi P. & C. s.r.l. socio unico - Via De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                       di Bianchi P. & C. s.r.l. socio unico

     LA.R.A.  di Bianchi P. & C. s.r.l. socio unico - Via De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                       di Bianchi P. & C. s.r.l. socio unico

La.r.a. ref. 370006

1060

total stroke= 150
(n° 3 pinion turns)

z= 34

M14X1.5M14X1.5

TOYOTA

drive year note

LH 08/2005-> ELECTRIC STEERING

YARIS 2ND SERIES - 1000/1300/1500/1800 cc  PETROL - 1400 cc DIESEL

original references
45500-0D110 - 45500-0D111 - 45500-1D110 - 45510-52030

45510-52040 - 45510-52080 - 45510-52140 - 45510-52190 - 45510-52200

     LA.R.A.  di Bianchi P. & C. s.r.l. socio unico - Via De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                       di Bianchi P. & C. s.r.l. socio unico

     LA.R.A.  di Bianchi P. & C. s.r.l. socio unico - Via De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                       di Bianchi P. & C. s.r.l. socio unico

La.r.a. ref. 370008

1040

total stroke= 130
(n° 3,5 pinion turns)

z= 34

M12X1.25M12X1.25

TOYOTA

drive year note

LH 04/1999->09/2005 ELECTRIC STEERING

YARIS 1ST SERIES - 1000/1300/1500 cc  PETROL - 1400 cc DIESEL

original references

45500-0D031 - 45510-52010 - 45510-52020

     LA.R.A.  di Bianchi P. & C. s.r.l. socio unico - Via De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                       di Bianchi P. & C. s.r.l. socio unico

     LA.R.A.  di Bianchi P. & C. s.r.l. socio unico - Via De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                       di Bianchi P. & C. s.r.l. socio unico

La.r.a. ref. 410002

1210

z= 40
total stroke= 130
(n° 4 pinion turns)

M12X1.25 M12X1.25

VOLVO

drive year note

LH 08/1988->12/1996

440 - 460 SERIES 1600/1700/1800/2000 cc PETROL - 1900 cc DIESEL

original references

3344585 - 3465183 - 3480000 - 9031605

     LA.R.A.  di Bianchi P. & C. s.r.l. socio unico - Via De Gasperi nr. 88 - 25066 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                    di Bianchi P. & C. s.r.l.

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                    di Bianchi P. & C. s.r.l.

NISSAN QASHQAI 1600/2000 cc PETROL - 1500/1600/2000 cc DIESELLa r a ref NISSAN QASHQAI 1600/2000 cc PETROL - 1500/1600/2000 cc DIESEL

RENAULT KOLEOS 2500 cc PETROL / 2000 cc DIESEL

La.r.a. ref.

280007
1105

total stroke= 155
(n° 3 5 pinion turns)

M14X1.5

(n° 3,5 pinion turns)

M14X1.5

drive year note

LH 02/2007-> ELECTRIC STEERING

NISSAN

48001-3622R - 48001-JD000 - 48001-JD900 - 48001-JD90B - 48001-JY40A

original references

LH 02/2007 >

drive year note

LH 09/2008 C C S G48001 3622R 48001 JD000 48001 JD900 48001 JD90B 48001 JY40A

RENAULT

original references

LH 09/2008-> ELECTRIC STEERING48001-3622R - 48001-JD000 - 48001-JD900 - 48001-JD90B - 48001-JY40A

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                    di Bianchi P. & C. s.r.l.

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                    di Bianchi P. & C. s.r.l.

La.r.a. ref. 280008

1030

total stroke= 130
(n° 3 pinion turns)

M12X1.25 M12X1.25

NISSAN

drive note

MICRA III (K12) 1000/1200/1400 cc PETROL - 1500 cc DIESEL   year 01/2003->06/2010

NOTE 1400/1600 cc PETROL - 1500 cc DIESEL   year 03/2006->

original references

LH ELECTRIC STEERING - (KOYO)48001-9U100 - 48001-BG10A - 48001-BG11A

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                    di Bianchi P. & C. s.r.l.

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                    di Bianchi P. & C. s.r.l.

La.r.a. ref. 310039
1245

total stroke= 130

M14X1 5

total stroke  130
(n° 3 pinion turns)

M14X1.5

drive year note

MICRA III (K12) 1000/1200/1400 cc PETROL - 1500 cc DIESEL

NISSAN

original references

M14X1.5

drive year note

LH 01/2003->06/2010 ELECTRIC STEERING

drive year noteoriginal references

CLIO 3RD SERIES 1200/1400/1600 cc PETROL - 1500 cc DIESEL

original references

48001-BC43A - 7711368402 - 8200124407 - 8200124408 - 8200565645 - 8200595934

RENAULT

drive year note

LH 05/2005-> ELECTRIC STEERING

drive year note

RENAULT

original references

48001-BC43A - 7711368402 - 8200124407 - 8200124408 - 8200565645 - 8200595934

MODUS 1200/1400/1600 cc PETROL - 1500 cc DIESEL

original referencesy

LH 12/2004-> ELECTRIC STEERING48001-BC43A - 7711368402 - 8200124407 - 8200124408 - 8200565645 - 8200595934

g

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                    di Bianchi P. & C. s.r.l.

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                    di Bianchi P. & C. s.r.l.

La.r.a. ref. 430002

1115

total stroke= 130
(n° 4 pinion turns)

M12X1.5 M12X1.5

SMART

drive year note

LH 01/2007->

FORTWO COUPE' - CABRIO (451) 800/1000 cc

original references

4514600051 - 4514600451 - 4514600551 - 4514600651 - 451460045128

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                    di Bianchi P. & C. s.r.l.

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                    di Bianchi P. & C. s.r.l.

La.r.a. ref. 210003

1160
(total lenght without tie-rod-ends)

total stroke= 145
(n° 4 pinion turns)

z= 36

M12X1.25
(tie-rod thread)

M12X1.25
(tie-rod thread)

HYUNDAI

drive year note

LH 01/2008 -> MANUAL STEERING

i10 1000/1100/1200 cc PETROL / 1100 cc CRDi DIESEL

original references

56500-0X000

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



                                    di Bianchi P. & C. s.r.l.

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                    di Bianchi P. & C. s.r.l.

La.r.a. ref. 440001

z= 36

1150
(total lenght without tie-rod-ends)

total stroke= 145
(n° 4 pinion turns)

M12X1.25
(tie-rod thread)

M12X1.25
(tie-rod thread)

KIA

drive year note

LH 04/2004 -> MANUAL STEERING

PICANTO 1000/1100 cc PETROL / 1100 cc CRDi DIESEL

original references

56500-07000

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com



ref. description

5092 FIAT Sedici 1 6 16v (M16A) 06/06 >FIAT SEDICI / SUZUKI GRAND VITARA

Timing-kits
ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

applications*

LA.R.A. di Bianchi Piergiorgio & C. s.r.l. socio unico

5092 FIAT Sedici 1.6 16v (M16A) 06/06->

SUZUKI Grand Vitara II 1.6 (M16A) 04/05->

SUZUKI Ignis / Ignis II 1.3 (M13A) 10/00->

SUZUKI Jimny 1.3 (G13BB) 09/98->

SUZUKI Liana 1.3 (M13A) 03/02->

SUZUKI Liana 1.6 (M16A) 03/02->

FIAT SEDICI / SUZUKI GRAND VITARA

75005300

SUZUKI Swift III 1.5 (M15A) 02/05->

SUZUKI Sx4 1.5 (M15A) 06/06->

SUZUKI Sx4 1.6 (M16A) 06/06->

SUZUKI Wagon R+ 1.3 05/00->12/04
75005400

7200200076002300

74002800

ref. part type nr.

72002000 CRANK GEAR 1

74002800 CHAIN 1

75005300 SLIDING BLOCK 1

75005400 SLIDING BLOCK 1

12771-54G00  -  12771-54G01
12771-54G10  -  12771-61M00

PLASTIC - STRAIGHT

12811-69G00  -  12811-69G01 METAL - CURVED

oe notes

12631-54G00

12761-54G00 162 LINKS

5092 is composed by

75005400 SLIDING BLOCK 1

76002300 TENSIONER 1

* for the details of the vehicle please refer to the index of applications

12811-69G02
METAL  CURVED

12831-69G00



ref. description

5093 SMART FORTWO PETROL 1 01320320080 - 1320340010 - 1320340110 - 

oe

Fortwo Coupè / Cabrio 999cc 01/2007 >

Timing-kits

ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

applications*

LA.R.A. di Bianchi Piergiorgio & C. s.r.l. socio unico

5093 SMART FORTWO PETROL 1.0
1320340310 - 1320500069 - 1320510028 - 
1320520016 - 1320520091 - 1320520116 - 

1052A266 - 1130A220 - 1140A046 - 1140A056 - 
1141A024 - 1141A025

Fortwo Coupè / Cabrio 999cc 01/2007->

75006800

75006900

76002900

73003200

42003100
42003200

74003700

ref. part type nr.

5093 is composed by

oe notes

73003200 CAM GEAR 1

74003700 CHAIN 1

75006800 SLIDING-BLOCK 1

75006900 SLIDING-BLOCK 1

76002900 TENSIONER 1

42003100 SCREW 2

NR. 150 LINKS

LITTLE

STRAIGHT

CURVED

42003100 SCREW 2

42003200 SCREW 1

* for the details of the vehicle please refer to the index of applications

LITTLE

BIG



ref. description

5094 FIAT Daily III Daily IV (IVECO) 2 3 05/06 >

Timing-kits
ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

applications*

FIAT DAILY III DAILY IV

LA.R.A. di Bianchi Piergiorgio & C. s.r.l. socio unico

5094 FIAT Daily III - Daily IV (IVECO) 2.3 05/06->FIAT DAILY III - DAILY IV

76002400

7200210072002100

74002900

ref. part type nr.

72002100 GEAR 2

74002900 CHAIN 1

oe notes

5094 is composed by

42 LINKS74002900 CHAIN 1

76002400 TENSIONER 1

* for the details of the vehicle please refer to the index of applications

42 LINKS



ref.

5095 504161356 FIAT Daily III Daily IV (IVECO) 2 3 01/05 >

Timing-kits
ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

description applications*

FIAT DAILY III IV DUCATO 3 0 (for OIL PUMP)

LA.R.A. di Bianchi Piergiorgio & C. s.r.l. socio unico

5095 504161356 FIAT Daily III - Daily IV (IVECO) 2.3 01/05->

FIAT Daily III - Daily IV (IVECO) 2.8 01/01->04/06

FIAT Daily III - Daily IV (IVECO) 3.0 09/04->

FIAT Ducato natural power 3.0 04/09->

FIAT DAILY III - IV - DUCATO 3.0 (for OIL PUMP)

75005600

75005500 75005500

76002500

72002200
73002600

74003000

5095 is composed by

ref. part type nr.

72002200 CRANK GEAR 1

73002600 CAM GEAR 1

74003000 CHAIN 1

75005500 SLIDING-BLOCK 2

75000200 SLIDING-BLOCK 1

504091968 - 504161356 - 504161356SK 84 LINKS

504019931 STRAIGHT

CURVED

oe notes

75000200 SLIDING BLOCK 1

76002500 TENSIONER 1

* for the details of the vehicle please refer to the index of applications

5801617803

CURVED



ref. oe

5096 504084528 504288857 FIAT Daily III Daily IV (IVECO) 2 3 01/05 >

Timing-kits
ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

description applications*

FIAT DAILY III IV DUCATO 3 0

LA.R.A. di Bianchi Piergiorgio & C. s.r.l. socio unico

5096 504084528 - 504288857 FIAT Daily III - Daily IV (IVECO) 2.3 01/05->

FIAT Daily III - Daily IV (IVECO) 2.8 01/01->04/06

FIAT Daily III - Daily IV (IVECO) 3.0 09/04->

FIAT Ducato natural power 3.0 04/09->

FIAT DAILY III - IV - DUCATO 3.0

75005800

75005700 75005900

42003000
76002600

73002800 73002700

72002300

74003100

ref. part type nr.

72002300 CRANK GEAR 1

73002700 CAM GEAR 1

5096 is composed by
oe notes

8 HOLES

73002800 CAM GEAR 1

74003100 CHAIN 1

75005700 SLIDING-BLOCK 1

75005800 SLIDING-BLOCK 1

75005900 SLIDING-BLOCK 1

76002600 TENSIONER 1

CURVED

4 HOLES

504091969 - 5801375562 - 5801375562SK 122 LINKS

504074380 STRAIGHT

504019918 SHORT

5801375557 - 580161780276002600 TENSIONER 1

42003000 SCREW 1

* for the details of the vehicle please refer to the index of applications

504019914

5801375557  5801617802



ref.

5097 TOYOTA Yaris 1 3 08/99 >09/05 (2SZ FE)

Timing-kits
ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

description applications*

TOYOTA 1 3 ENGINE 2SZ FE PETROL

LA.R.A. di Bianchi Piergiorgio & C. s.r.l. socio unico

5097 TOYOTA Yaris 1.3 08/99->09/05 (2SZ-FE)TOYOTA 1.3 ENGINE 2SZ-FE PETROL

75006000

75006100

64000800

72002400

73000100

76000100

74003200

ref. part type nr.

5097 is composed by
oe notes

72002400 CRANK GEAR 1

73000100 CAM GEAR 1

74003200 CHAIN 1

75006000 SLIDING-BLOCK 1

75006100 SLIDING-BLOCK 1

76000100 TENSIONER 1

13523-23010 / 13523-23050 / 13523-0J010

13540-23010 / 13545-23010

13506-23020 158 LINKS

13566-23020 STRAIGHT

13591-23020 CURVED

76000100 TENSIONER 1

64000800 STIRRUP 1

* for the details of the vehicle please refer to the index of applications

13545-0J010  / 13540-0N010

13567-23010



ref.

5098 AUDI A1 1 4 TFSI 05/10 >

Timing-kits
ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

description applications*

AUDI A3 / VOLKSWAGEN GOLF 1 6 ENGINE WITH VVT

LA.R.A. di Bianchi Piergiorgio & C. s.r.l. socio unico

5098 AUDI A1 1.4 TFSI 05/10->

AUDI A3 1.4 TFSI / 1.6 FSI 08/03->05/13

SEAT Cordoba  1.6 16v 11/06->11/09

SEAT Ibiza IV 1.6 16v 11/06->11/09

SEAT Ibiza V 1.4 TSI / 1.6 03/08->

SEAT Leon V 1.4 TSI 11/07->

AUDI A3 / VOLKSWAGEN GOLF 1.6 ENGINE WITH VVT

75006300

SEAT Toledo IV V 1.4 TSI / 1.6 07/12->

SKODA Fabia 1.4 TSI / 1.6 04/07->

SKODA Octavia 1.4 TSI / 1.6 02/04->

SKODA Roomster 1.6 09/06->

SKODA Superb 1.4 TSI 07/08->

VW Eos 1 4 TSI / 1 6 FSI 06/06->

75006200

75006400 VW Eos 1.4 TSI / 1.6 FSI 06/06->

VW Golf V 1.4 FSI / 1.4 TSI 10/03->07/09

VW Golf VI 1.4 TSI 10/08->

VW Jetta III 1.4 TSI / 1.6 FSI 09/05->

VW Jetta IV 1.4 TSI / 1.6 04/11->

VW Passat 1.4 TSI / 1.6 FSI 03/05->
72002500

73002900

76002700

75006400

VW Polo 1.4 TSI / 1.6 16v 02/02->

VW Scirocco 1.4 TSI FSI 08/08->

VW Sharan 1.4 TSI 05/08->

VW Tiguan 1.4 TSI 09/07->

VW Touran 1.4 TSI / 1.6 FSI 02/03->

72002500

74003300

74003400

ref. part type nr.

72002500 CRANK GEAR 1

5098 is composed by
oe notes

73002900 CAM GEAR 1

74003300 CHAIN 1

74003400 CHAIN 1

75006200 SLIDING-BLOCK 1

75006300 SLIDING-BLOCK 1

75006400 SLIDING-BLOCK 1

03C109158 / 03C109158A 130 LINKS

03C109509K / L / M / P 1 HOLE

03C109469J / K 3 HOLES

SHORT

03C115230 / 03C115230C 54 LINKS

75006400 SLIDING BLOCK 1

76002700 TENSIONER 1

* for the details of the vehicle please refer to the index of applications

SHORT

03C109507AH / 03C109507M



ref.

5099 AUDI A1 1 4 TFSI 05/10 >

Timing-kits
ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

description applications*

AUDI A3 / VOLKSWAGEN GOLF 1 6 ENGINE WITHOUT VVT

LA.R.A. di Bianchi Piergiorgio & C. s.r.l. socio unico

5099 AUDI A1 1.4 TFSI 05/10->

AUDI A3 1.4 TFSI / 1.6 FSI 08/03->05/13

SEAT Cordoba  1.6 16v 11/06->11/09

SEAT Ibiza IV 1.6 16v 11/06->11/09

SEAT Ibiza V 1.4 TSI / 1.6 03/08->

SEAT Leon V 1.4 TSI 11/07->

AUDI A3 / VOLKSWAGEN GOLF 1.6 ENGINE WITHOUT VVT

75006300

SEAT Toledo IV V 1.4 TSI / 1.6 07/12->

SKODA Fabia 1.4 TSI / 1.6 04/07->

SKODA Octavia 1.4 TSI / 1.6 02/04->

SKODA Roomster 1.6 09/06->

SKODA Superb 1.4 TSI 07/08->

VW Eos 1 4 TSI / 1 6 FSI 06/06->

75006200

75006400

VW Eos 1.4 TSI / 1.6 FSI 06/06->

VW Golf V 1.4 FSI / 1.4 TSI 10/03->07/09

VW Golf VI 1.4 TSI 10/08->

VW Jetta III 1.4 TSI / 1.6 FSI 09/05->

VW Jetta IV 1.4 TSI / 1.6 04/11->

VW Passat 1.4 TSI / 1.6 FSI 03/05->
72002500

73002900 73002900

VW Polo 1.4 TSI / 1.6 16v 02/02->

VW Scirocco 1.4 TSI FSI 08/08->

VW Sharan 1.4 TSI 05/08->

VW Tiguan 1.4 TSI 09/07->

VW Touran 1.4 TSI / 1.6 FSI 02/03->

76002700

74003300

74003400

ref. part type nr.

72002500 CRANK GEAR 1

5099 is composed by
oe notes

73002900 CAM GEAR 2

74003300 CHAIN 1

74003400 CHAIN 1

75006200 SLIDING-BLOCK 1

75006300 SLIDING-BLOCK 1

75006400 SLIDING-BLOCK 1

03C109158 / 03C109158A 130 LINKS

03C115230 / 03C115230C 54 LINKS

03C109509K / L / M / P 1 HOLE

03C109469J / K 3 HOLES

SHORT75006400 SLIDING BLOCK 1

76002700 TENSIONER 1

* for the details of the vehicle please refer to the index of applications

SHORT

03C109507AH / 03C109507M



ref.

5100 NISSAN Cube 1 6 16v (Z12) 03/10 >

Timing-kits
ITEM DETAILS

Via Alcide De Gasperi, 88
25066 Lumezzane Piatucco (Brescia) Italy

Tel: +39 (0)30 8970733
Fax: +39 (0)30 872391

web: www.lara-autoparts.com
e-mail: info@lara-autoparts.com

description applications*

NISSAN CUBE MICRA III K12 NOTE QASHQAI ENGINE 1 6 PETROL

LA.R.A. di Bianchi Piergiorgio & C. s.r.l. socio unico

5100 NISSAN Cube 1.6 16v (Z12) 03/10->

NISSAN Juke 1.6 (F15) 06/10->

NISSAN Micra III (K12) 1.6 05/15->06/10

NISSAN Note 1.6 (E11) 03/06->

NISSAN Qashqai 1.6 (J10 - JJ10) 02/07->

NISSAN CUBE - MICRA III K12 - NOTE - QASHQAI ENGINE 1.6 PETROL

75006600

75006700

75006500

75006700

72002600

73003100

7600280073003000

74003600

74003500

ref. part type nr.

72002600 CRANK GEAR 1

73003000 CAM GEAR 1

5100 is composed by
oe notes

15043-3AC0A Z=29

73003100 CAM GEAR 1

74003500 CHAIN 1

74003600 CHAIN 1

75006500 SLIDING-BLOCK 1

75006600 SLIDING-BLOCK 1

75006700 SLIDING-BLOCK 1

13028-3HC0A 152 LINKS

15041-3HC0A 56 LINKS

13085-3HC1A 2 HOLES

13024-ET000 Z=42

13091-3HC1A 1 HOLE

13070-3HC0A SHORT75006700 SLIDING BLOCK 1

76002800 TENSIONER 1

* for the details of the vehicle please refer to the index of applications

13070-3HC1A

13070 3HC0A SHORT



                                    di Bianchi P. & C. s.r.l.

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com

                                    di Bianchi P. & C. s.r.l.

La.r.a. ref. 190061

990

z= 26

total stroke= 155
(n° 3 pinion turns)

M12X1.5 M12X1.5

aluminium threaded 
M12X1 75

FIAT

M12X1.75

drive year note

LH 12/2011->
ELECTRIC STEERING

ALUMINIUM THREADED M12X1.75

PANDA 1100/1200 cc PETROL - 1300 cc DIESEL MULTIJET - LPG - NATURAL POWER

original references

51908391 - 51908393 - 51915480 - 51915481 - 51934258 - 51940137 - 51965737 - 51965739

     LA.R.A.  di Bianchi P. & C. s.r.l.  - Via Alcide De Gasperi nr. 88 - 25065 Lumezzane Piatucco (Brescia) Italy - Tel: +39 (0)30 8970733 - Fax: +39 (0)30 872391 - web: www.lara-autoparts.com - e-mail: info@lara-autoparts.com


